
Skip it to multiply it: Leg problems

Each goat has four legs. How many legs are on five goats?

Each caterpillar has ten legs. How many legs are on six caterpillars?

Each beetle has six legs. How many legs are on four beetles?

Each spider has eight legs. How many legs are on five spiders?



Skip it to multiply it: Leg problems

Each goat has four legs. How many legs are on ______ goats?

Each caterpillar has ten legs. How many legs are on _________ caterpillars?

Each beetle has six legs. How many legs are on _________ beetles?

Each spider has eight legs. How many legs are on ________ spiders?


